Choosing a tile assessment 

Checkmark Grid Example:
Recall that the dimensions of the rectangular kitchen are 225 inches x 120 inches.
Determine which of the following numbers are equivalent to the area of the room.
	
	Equivalent
	Not Equivalent

	690 sq  inches
	
	

	27,000 sq inches
	
	

	2250 sq feet
	
	

	324,000 sq feet
	
	

	187.5 sq feet
	
	



Who’s Correct Example:
Erma is concerned about the environment and wants to use as little waste as possible as Max tiles the floor. Erma says that by using the smaller tiles, he should have less waste.  Max disagrees with her. Who is right?  Explain.


4-in-1 Example:
Based on each situation, choose which tile option is the correct choice and put an X in the
[bookmark: _GoBack] corresponding box. 
	
	6 in x 6 in
	18 in x 18 in

	Which tile creates more waste?
	
	

	Which tile option requires more tiles to be purchased?
	
	

	If tiles can only be purchased in boxes of 40(same price as in original question), which is the cheaper option?
	
	

	If purchased in packs of 40, which has more leftover tiles?
	
	




Multiple answer choices Example:
Choose all of the models that could be used to write an equation for the problem.
[A]	Floor area ÷ Tile area = Number of tiles
[B]	Floor length ÷ Tile length + Floor width ÷ Tile width = Number of tiles
[C]	(Floor length + Floor width) ÷ (Tile length + Tile width) = Number of tiles
[D]	Perimeter of floor ÷ Perimeter of tile = number of tiles

Choosing a Tile Assessment 		Answer Key
Checkmark Grid Example:
Recall that the dimensions of the rectangular kitchen are 225 inches x 120 inches.
Determine which of the following numbers are equivalent to the area of the room.
	
	Equivalent
	Not Equivalent

	690 sq  inches
	
	X

	27,000 sq inches
	X
	

	2250 sq feet
	
	X

	324,000 sq feet
	
	X

	187.5 sq feet
	X
	



Who’s Correct Example:
Erma is concerned about the environment and wants to use as little waste as possible as Max tiles the floor. Erma says that by using the smaller tiles, he should have less waste.  Max disagrees with her. Who is right?  Explain.
Erma is correct.  By using smaller tiles there is 2.5 sq. feet of waste.  When using the larger tiles there is 17.25 sq. feet of waste.
4-in-1 Example:
Based on each situation, choose which tile option is the correct choice and put an X in the
 corresponding box. 
	
	6 in x 6 in
	18 in x 18 in

	Which tile creates more waste?
	
	X

	Which tile option requires more tiles to be purchased?
	X
	

	If tiles can only be purchased in boxes of 40(same price as in original question), which is the cheaper option?
	
	X

	If purchased in packs of 40, which has more leftover tiles?
	
	X


Each option requires that the students go back and recalculate in some way.
Multiple answer choices Example:
Choose all of the models that could be used to write an equation for the problem.
[A]	Floor area ÷ Tile area = Number of tiles
[B]	Floor length ÷ Tile length + Floor width ÷ Tile width = Number of tiles
[C]	(Floor length + Floor width) ÷ (Tile length + Tile width) = Number of tiles
[D]	Perimeter of floor ÷ Perimeter of tile = number of tiles
